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Rational Practice Test

CALCULATOR ALLOWED

Round to 3 decimal places. Score
Show all work.
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3. Find the equations of the lines tangent to and normal to y=
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4.  Find the zeros, VAs, POEs and HA of y= ig:;; . Show the supporting
algebraic work.
Zeros: C—l:%l ) j - @"\w\ (H‘ '4’5-:\
=% Bet 5‘>
VAs: =+ 5

HA: 3:__..'



5 Fi - 16— x?
A ind the extreme points of y = =55

5 Show the derivative and algebra to

support the critical values.
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PreCalculus Acc <17-18 Name: S})L_uﬂgg L

Dr. Quattrin

Rational Practice Test

CALCULATOR NOT ALLOWED

Show all work. Score

6. Write an equation of a rational function that hag x—intercepts at (-2, 0), V

atx=4,aPOE at x=-3, and a HA at yz—;;—.
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7 Show the sign pattern and solve %ﬁ;—fso.
(2\c~%\ (;c A0)
— (x-3) (== )
4 = BE= B L k-
= ¥ § —
< — 4 >

e o -yl 2] v (3, o)



Cooe g2
8. Find the traits and sketch y= s

x2-25
o o ; b
Domain: X A%< Range: j é{m :‘-1\ J = 03)
Y — Intercept: ( O ( “?(;: ) End Behavior: ﬂ =
Zeros: (}_ q.>) Extreme Points: @ - 8 2,5’)
VAs: = + POE: r~doye

e
-




4x*—16x
P-d 3 x-4

9.  Find the traits and sketch of y=
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